Залікова робота
з навчальної дисципліни "Ділова іноземна мова"
 (4-й курс, 7-й семестр)
                                       здобувача вищої освіти групи _________
Перевірив: ________________________________________
		Ознайомлений(а): _______________________
(Максимальна кількість балів – 100: кожна правильна відповідь – 2 бали)
A. Using the words in parentheses, complete the text below with the appropriate form of the verbs. Sometimes you need will or would.
1. Yesterday protesters managed to hold up work on the Oldbury bypass. Protest leader Alison Compton defended the action by members of the Green World group. 'If we don't protest, soon (►) there'll be (there / be) no countryside left,' she told reporters. The bypass is now well behind schedule, and if the protesters had not held up the work so often, (1)…………………….……………….(it / open) two months ago. 'If these fields (2)……………………….... (disappear), we'll never see them again,' said Ms Compton. 'Why can't we use public transport? If more people (3)………………………(travel) on buses and trains, we wouldn't need new roads. If the motor car had never existed, the world (4)………………………(be) a more pleasant place today.' 
2. But many people in Oldbury want their new bypass. 'If (5)…………………………. (they / not build) it soon, the traffic jams in the town will get worse,' said Asif Mohammed, whose house is beside the busy A34. 'We just can't leave things as they are. If things remained the same, people's health (6)……………………………..(suffer) even more from all the pollution here. It's terrible. If we don't get the traffic out of the town, (7)………………………….(I / go) mad. If (8)…………..……………. (I / know) earlier how bad this problem would get, (9)……………….………………….(I / move) out years ago. But now it has become impossible to sell this house because of the traffic. The government waited too long. If (10)………………..……………..(they / do) something sooner, there would be less traffic today' And the protest is making the new road even more expensive. 'If this goes on, (11) …………………………………. (there / not / be) enough money left to finish the road,' says the Transport Minister.

B.  Look at the answers below and write the correct answer in each space. 
►   A:    There's always something going wrong with this car.
       B:    If you had any sense, you'd have sold it long ago.
      a) be selling   	b) have sold    	c) sell    	d) sold
12.   A:    It's a pity the lake wasn't frozen yesterday.
        B:    Yes, it is. If it   	frozen, we could have gone skating.
        a) had been    	b) was    	c) would be    		d) would have been
13.   A:    Haven't you got enough money for a holiday?
        B:    Oh yes. I've got some saved up	…………	I suddenly need it.
        a) if   		b) in case   	c) that    		d) unless
14.   A:    What are you going to do next year?
       B:    I wish I ………………….	the answer to that question.
       a) knew   	b) know    	c) could know    	d) would know
15.   A:    These figures are too complicated to work out in your head.
        B:    Yes, if ………………………we had a calculator.
        a) better    	b) only    	c) really    		d) that
16.   A:   What are you doing later this afternoon?
        B:    Oh, …………………	the game finishes, I'll go home, I expect.
        a) if   		b) in case    	c) unless    		d) when
17.   A:    Do you think I should take the job?
        B:    You shouldn't do anything………………………you think it's the right thing to do.
        a) if   		b) in case    	c) unless    		d) when

C. Fill in the gaps with the words/ combinations from the box.
	A)  sharp coastal  prairies rainfalls, spectacular unspoilt landscapes arid altitude stretches



Due to (18)____________variations in (19)______________ and (20)______________ influences Mexico is one of the most diverse countries of the world with a variety of(21)________________ and ecosystems: (22)_______________ of deserts, (23)_______________ tropical plains, (24)_____________ with little (25)______________, (26)___________ rainforests, giant cacti, white sandy beaches stretching for over a hundred miles of (27)____________ coastline.
	B) carry     Record    provided  service  crash    briefcase   speed     ridden



 If you are in a hurry, Mototaxi motorbike taxi (28) ____________ will get you to your destination in(29)________________ time. Our new service offers quick, safe transport anywhere in the city centre. WE have twenty motorbikes, all (30)____________ by experienced motorcyclists. All passengers are(31)____________  with a(32)________ helmet, and each bike has a(33) _________ box on the back where you can put your box or (34)_________. It is efficient, safe and inexpensive. If you need(35)____________ , call us on 893028746584.

D. Circle the correct item.
36.Fifty people were on ___________ when the plane crashed.
A)track  b) air  c) board  d)deck
37.The train had broken down, so we had to wait on the ___________ for an hour.
A) engine room  B)platform  C) master station   D)port
38.  A car_______________ with a motor bike last night.
A) broke   B)hit  C)collided  D)knocked
39.  Busy roads, should have a______________ so that people can cross the road safely.
A)lane       B)one-way street      C)roadwork     D)pedestrian subway
40.  I don’t __________ having seeing you before. Are you sure we’ve met?
A) forget         B)memorize    C)recall  D) remind
41. I wouldn’t have this shirt if it wasn’t such excellent__________ for money.
A) pay  B)worth   C)price  D) value
42. Sally___________a lot of money, her new job is much better paid than the old one.
A)earns   B)does   C)wins  D)makes
43.  The minimum cab____________ is 1,5 USD, so you cannot go very far for 3 USD.
A) passer-by  B)fare  C)gain  D)ticket
44. AS he was driving he could see someone following him in the __________mirror.
A) mast  B)ignition   C)dashboard  D)rear view
45.  Big vehicles____________ a great deal of petrol.
A) absorb  B)drink   C)take up  D)consume
E. Fill in the correct preposition.
1. The hotel caters (46)________ all kinds of dinner functions and relies(47)_________ local companies for most of its business.
2. Claire depends (48)__________ her father to pay for the things she wants, she is always asking him (49)__________ money.
3. I am setting off to South Africa, but it appears I do not have any clothes suitable (50) ______hot climate.



